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7  System test design specification
7.1  Test design specification identifier
7.2 Features to be tested
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8.1 Test case specification identifier
T1_NPS_STC_NUMBER_NUMBER
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8.2 Test items

<Table 3 System Test Design Identification>

Test case identifier

Input specification

Output specification

T1_NPS_STC_000_000

(AdminData) Admin Reg userA

“UserA is already registered”

T1_NPS_STC_000_001

(AdminData) Admin Reg userB

“UserB is successfully registered”

T1_NPS_STC_000_002

(AdminData) Admin Reg aaaa

“"aaaa is successfully registered”

T1_NPS_STC_000_003

(AdminData) Admin Reg userC

“UserC is successfully registered”

T1_NPS_STC_000_004

(AdminData) Admin Del userA

“userA is successfully deleted”

T1_NPS_STC_000_005

(AdminData) Admin Del

exist)

userZ(no

“userA is not exist in User

database”

T1_NPS_STC_000_006

(AdminData) Admin Del userC

“userC is successfully deleted”

T1_NPS_STC_000_007

(AdminData) Admin Del aaaa

“"aaaa is successfully deleted”

T1_NPS_STC_000_008

(AdminData) Admin A4 100(Current
A4 =0)

Current Paper =100
Status => "Charging”

T1_NPS_STC_000_009

(AdminData) Admin A4 100(Current
A4 =10)

"Cannot execute command”

T1_NPS_STC_000_010

(AdminData) Admin A4 120(Current
A4 =0)

“Range of A4 os 1 to 100"

T1_NPS_STC_000_011

(AdminData) Admin A4 50(Current A4
=50)

Current Paper = 100
Status => “"Charging”

T1_NPS_STC_000_012

(AdminData) Admin Ink 3000(Current
InK = 0)

Current Ink = 3000
Status =>"Charging”

T1_NPS_STC_000_013

(AdminData) Admin Ink -50(Current
InK = 0)

“Range of Inkis 1 to 3000"

T1_NPS_STC_000_014

(AdminData) Admin Ink 3000(Current
InK = 100)

“Cannot execute command”

T1_NPS_STC_000_015

(AdminData) Admin Ink 3100(Current
InK = 100)

“Range of Ink is 1 to 3000"
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T1_NPS_STC_000_016

(AdminData) Paper EF = A|
Admin Ink 150

"Printer is charging now”

T1_NPS_STC_000_017

(AdminData) Paper £ = A|
Admin Ink 500

"Printer is charging now”"

T1_NPS_STC_000_018

(AdminData) Paper SX & A|

Admin Ink 1500

“Printer is charging now”

T1_NPS_STC_000_019

(AdminData) Ink =HZ QA

Admin A4 50

“Printer is charging now”

T1_NPS_STC_000_020

(AdminData) Ink ZFZUA|
Admin A4 15

"Printer is charging now”

T1_NPS_STC_001_000

(UserData) userA abc.txt
userAZ} DBO| QUSA|

"Preprocess Success
RP=(abc.txte| Z0|%)
RI=(abc.txto] LA =z)"

T1_NPS_STC_001_001

(UserData) userA b.txt
userAZt DBO| QUSA|

"Preprocess Success
RP=(b.txte| &0|=)
RI=(b.txto| /3 =)"

T1_NPS_STC_001_002

(UserData) user a.txt
userZ} DBO|| USA|

"Preprocess Success
RP=(a.txte| &0|=)
RI=(a.txto| A3 )"

T1_NPS_STC_001_003

(UserData) userA a.txt
userAZt DBO| QUSA|

"Preprocess Success
RP=(a.txte| Z0|%)

RI=(a.txte] LA =z)"

T1_NPS_STC_001_004

(UserData) userB d.txt
userB7} DBOf| RJqSA|

"Preprocess Success
RP=(d.txte| &0|=)
RI=(d.txto| 3 =)"

T1_NPS_STC_001_005

(UserData) aaaa a.txt
aaaa’Z} DBO|| USA|

"Preprocess Success
RP=(a.txte| &0|%)

RI=(a.txto| ¥YA )"

T1_NPS_STC_001_006

(UserData) aaaa aa.txt
aaaaZ} DBO| QUESA|

"Preprocess Success
RP=(aa.txto| =0|%)

RI=(aa.txto] Y3 )"

T1_NPS_STC_001_007

(UserData) userD a.txt
userD7} DB QIEA|

"

“userD is not exist in User DB

T1_NPS_STC_001_008

(UserData) userZ d.txt
userZ7} DBO| SISA|

“userZ is not exist in User DB”

T1_NPS_STC_001_009

(UserData) team1 a.txt
Team10| DBO| QUSA|

“team1 is not exist in User DB”

T1_NPS_STC_001_010

(UserData) userA a.txt
userDZ7} DBO| UESA|

“userA is not exist in User DB”

T1_NPS_STC_001_011

(UserData) zz a.txt
zz7} DBOj| QUEA|

"zz is not exist in User DB”

T1_NPS_STC_001_012

(UserData) userZ abc.txt

"userZ is not exist in User DB”

STP
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userZ7} DBO| SISA|

T1_NPS_STC_002_000

(UserData) userA abc.txt
Remain Paper = 20
Remain Ink = 500
Require Paper = 14
Require Ink = 400

Remain Paper = 6
Reamin Ink = 100
Status = "Printing”
“data lobby start”

T1_NPS_STC_002_001

(UserData) userA a.txt
Remain Paper = 4
Remain Ink = 2550
Require Paper = 24
Require Ink = 80

“paper low Reject command”

T1_NPS_STC_002_002

(UserData) userA a.txt
Remain Paper = 4
Remain Ink = 2550
Require Paper = 15
Require Ink = 80

“paper low Reject command”

T1_NPS_STC_002_003

(UserData) userA b.txt
Remain Paper = 60
Remain Ink = 1550
Require Paper = 24
Require Ink = 2000

"ink low Reject command”

T1_NPS_STC_002_004

(UserData) userA b.txt
Remain Paper = 60
Remain Ink = 1550
Require Paper = 24
Require Ink = 1556

“ink low Reject command”

T1_NPS_STC_002_005

(UserData) userA team1.txt
Remain Paper = 20
Remain Ink = 2000
Require Paper = 20
Require Ink = 2000

Remain Paper = 0
Reamin Ink = 0

Status = “Printing”
“data lobby start”

T1_NPS_STC_002_005

(UserData) userA teaml.txt
Remain Paper = 20
Remain Ink = 2000
Require Paper = 20
Require Ink = 2000

St= E%0| cancel

Status = "Printing”
"data lobby start”
->

“Current Print is stopping”

T1_NPS_STC_002_006

(UserData)

userA team1.txt(RI 300 RP 24)
userB a.txt(RI 300 RP 24)
userA b.txt(RI 1500 RP 9)
userB c.txt(RI 450 RP 15)
userA a.txt(RI 300 RP 24)

Remain Paper = 4
Reamin Ink = 150
Status = "Printing”
“Preprocess”
"Preprocess”

"Preprocess”

STP

Team?2
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Remain Paper = 100
Remain Ink = 3000

“Preprocess”

“Preprocess”

Wait  Queue = {userA/24
userB/24

userA /9 userB/15 userA/24}

T1_NPS_STC_002_007

(UserData)

userA team1.txt(RI 300 RP 24)
userB a.txt(RI 300 RP 24)
userA b.txt(RI 2500 RP 9)
userB c.txt(RI 450 RP 15)
userA a.txt(RI 300 RP 24)
Remain Paper = 100

Remain Ink = 3000

Remain Paper = 13

Reamin Ink = 1650

Status = "Printing”

“Preprocess”

“Preprocess”

“ink low Reject command!”
"Preprocess”

"Preprocess”

Wait  Queue = {userB/24
userB/15 userA/24}

T1_NPS_STC_002_008

(UserData)

userA team1.txt(RI 300 RP 24)
userB a.txt(RI 300 RP 24)
userA b.txt(RI 1500 RP 9)
userB c.txt(RI 2050 RP 15)
userA a.txt(RI 300 RP 24)
Remain Paper = 100

Remain Ink = 3000

Remain Paper = 13

Reamin Ink = 1650

Status = “Printing”

"Preprocess”

"Preprocess”

"Preprocess”

"ink low Reject command!”
"Preprocess”

Wait Queue = {userB/24 userA/9
userA/24}

T1_NPS_STC_002_009

(UserData)

userA team1.txt(RI 300 RP 24)
userB a.txt(RI 300 RP 24)
userA b.txt(RI 800 RP 9)
userB c.txt(RI 450 RP 15)
userA a.txt(RI 200 RP 24)
Remain Paper = 100

Remain Ink = 3000

Remain Paper = 13

Reamin Ink = 1650

Status = “Printing”

"Preprocess”

"Preprocess”

"Preprocess”

“Preprocess”

“ink low Reject command!”

Wait Queue = {userB/24 userA/9
userB/15}

T1_NPS_STC_002_010

(AdminData) Admin ink 3000
Cl=0
53g 21

(UserData) userA a.txt

Status => “Recharging”
sd 2= = [jy|¥o| male

ARt

T1_NPS_STC_002_011

(AdminData) Admin ink 1000
Cl=0
S¥ME 210

L=

(UserData) userA a.txt

Status => "Recharging”
5% o8 T 0f7|ge mzE

N
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T1_NPS_STC_002_012

(AdminData) Admin A4 100

Status => “Recharging”

CP=0 ST =2 7 Of7[Eel ZBIE
sHg £21 Azt
(UserData) userA a.txt
T1_NPS_STC 002 013 (AdminData) Admin A4 60 Status => “"Recharging”
CP=0 s 2= 7 O7|E9 =ZEE
sHE F21 A%
(UserData) userA a.txt
T1_NPS_STC_002_014 (UserData)OtR A= GSA| cancel OfR YT UOLIK| A2
T1_NPS_STC_002_015 (UserData)userA a.txt7} ELt1 cancel | OFF U LOILEX| §bg
T1_NPS_STC_002_016 (UserData)userA a.txt2} aaaa b.txt ofR e AoLtX| QS

7t BLFD cancel

T1_NPS_STC_002_017

(UserData)

userA team1.txt(RI 300 RP 24)
userB a.txt(RI 300 RP 24)
userA b.txt(RI 1500 RP 9)
userB c.txt(RI 450 RP 15)
userA a.txt(RI 300 RP 24)
Remain Paper = 100

Remain Ink = 3000

3HR| ==HA| cancel

Remain Paper = 4
Reamin Ink = 150
Status = "Printing”

4

"Preprocess’

4

"Preprocess’
"Preprocess”
"Preprocess”
"Preprocess”

"Current Print is stopping”

T1_NPS_STC_002_018

(UserData)

userA team1.txt(RI 300 RP 24)
userB a.txt(RI 300 RP 24)
userA b.txt(RI 1500 RP 9)
userB c.txt(RI 450 RP 15)
userA a.txt(RI 300 RP 24)
Remain Paper = 100

Remain Ink = 3000

AHRY =2 A| cancel

Status = "Printing”
“Preprocess”
“Preprocess”
“Preprocess”
“Preprocess”
"Preprocess”

“Current Print is stopping”

T1_NPS_STC_002_019

(UserData)

userA team1.txt(RI 300 RP 24)
userB a.txt(RI 300 RP 24)
userA b.txt(RI 1500 RP 9)
userB c.txt(RI 450 RP 15)
userA a.txt(RI 300 RP 24)
Remain Paper = 100

Remain Ink = 3000

SHR| =3 A| cancel

Status = “Printing”
“Preprocess”
“Preprocess”
"Preprocess”
“Preprocess”
“Preprocess”

“Current Print is stopping”

T1_NPS_STC_002_020

(UserData)
userA team1.txt(RI 300 RP 24)
userB a.txt(RI 300 RP 24)

Status = “Printing”
"Preprocess”

“Preprocess”

STP

Team?2

14




Ver.

userA b.txt(RI 1500 RP 9)
userB c.txt(RI 450 RP 15)
userA a.txt(RI 300 RP 24)
Remain Paper = 100
Remain Ink = 3000
1HR ==HA| cancel
2HW == A| cancel
3HR| Z==HA| cancel
AHRY] =2 A| cancel

SHE| =2 A| cancel

“Preprocess”
“Preprocess”
“Preprocess”
“Current Print is stopping”

“Current Print is stopping”

“Current Print is stopping”

“Current Print is stopping”

“Current Print is stopping”

T1_NPS_STC_002_021

(UserData)

userA team1.txt(RI 300 RP 24)
userB a.txt(RI 300 RP 24)
userA b.txt(RI 1500 RP 9)
userB c.txt(RI 450 RP 15)
userA a.txt(RI 300 RP 24)
Remain Paper = 100
Remain Ink = 3000
2R == A| cancel
3HM = A| cancel
AHTY =2 A| cancel
SHR| == A| cancel

Status = "Printing”
"Preprocess”

"Preprocess”

"Preprocess”

"Preprocess”

"Preprocess”

“Current Print is stopping”
“Current Print is stopping”
“Current Print is stopping”

“Current Print is stopping”

T1_NPS_STC_002_022

(UserData)

userA team1.txt(RI 300 RP 24)
userB a.txt(RI 300 RP 24)
userA b.txt(RI 1500 RP 9)
userB c.txt(RI 450 RP 15)
userA a.txt(RI 300 RP 24)
Remain Paper = 100

Remain Ink = 3000

3HR| == A| cancel

AHRY =2 A| cancel

SHR| =3 A| cancel

Status = "Printing”
"Preprocess”

“Preprocess”

“Preprocess”

“Preprocess”

"Preprocess”

“Current Print is stopping”
“Current Print is stopping”

“Current Print is stopping”

T1_NPS_STC_002_023

(UserData)

userA team1.txt(RI 300 RP 24)
userB a.txt(RI 300 RP 24)
userA b.txt(RI 1500 RP 9)
userB c.txt(RI 450 RP 15)
userA a.txt(RI 300 RP 24)
Remain Paper = 100

Remain Ink = 3000

3R] =HA| cancel

AHRY == A| cancel

Status = “Printing”
"Preprocess”

“Preprocess”

“Preprocess”

“Preprocess”

"Preprocess”

“Current Print is stopping”

“Current Print is stopping”

STP
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T1_NPS_STC_002_024

(UserData)

userA team1.txt(RI 300 RP 24)
userB a.txt(RI 300 RP 24)
userA b.txt(RI 1500 RP 9)
userB c.txt(RI 450 RP 15)
userA a.txt(RI 300 RP 24)
Remain Paper = 100

Remain Ink = 3000

3HR| Z==HA| cancel

SHE| =2 A| cancel

Status = "Printing”
“Preprocess”

“Preprocess”

“Preprocess”

“Preprocess”

“Preprocess”

“Current Print is stopping”
“Current Print is stopping”

T1_NPS_STC_002_025

(UserData)

userA team1.txt(RI 300 RP 24)
userB a.txt(RI 300 RP 24)
userA b.txt(RI 1500 RP 9)
userB c.txt(RI 450 RP 15)
userA a.txt(RI 300 RP 24)
Remain Paper = 100

Remain Ink = 3000

AHT = A| cancel

SHR| =2 A| cancel

Status = "Printing”
"Preprocess”

"Preprocess”

"Preprocess”

"Preprocess”

"Preprocess”

“Current Print is stopping”

“Current Print is stopping”

T1_NPS_STC_002_026

(UserData)

userA team1.txt(RI 300 RP 24)
userB a.txt(RI 300 RP 24)
userA b.txt(RI 1500 RP 9)
userB c.txt(RI 450 RP 15)
userA a.txt(RI 300 RP 24)
Remain Paper = 100

Remain Ink = 3000

2 == A| cancel

SHR| == A| cancel

Status = "Printing”
"Preprocess”

"Preprocess”

"Preprocess”

“Preprocess”

“Preprocess”

“Current Print is stopping”

“Current Print is stopping”

T1_NPS_STC_002_027

(UserData)

userA team1.txt(RI 300 RP 24)
userB a.txt(RI 300 RP 24)
userA b.txt(RI 1500 RP 9)
userB c.txt(RI 450 RP 15)
userA a.txt(RI 300 RP 24)
Remain Paper = 100

Remain Ink = 3000

Status = "Printing”
“Preprocess”
“Preprocess”
“Preprocess”
"Preprocess”

“Preprocess”

userA team1.tt(RI 300 RP 24)

T1_NPS_STC _002_028 (UserData) "File is not exist”
userA aa(RI 300 RP 24)
T1_NPS_STC 002 029 (UserData) “File is not exist”

STP
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T1_NPS_STC_002_030

(UserData)
userA team1l.tasdt(RI 300 RP 24)

"File is not exist”

T1_NPS_STC_002_031

(UserData)
userA adfasdf.tt(RI 300 RP 24)

"File is not exist”

T1_NPS_STC 002 032 (UserData) RP =2
userA atxt(l1Z)Z2IE S DHOFX|
9roj| EnterE 7t

T1_NPS_STC 002 033 (UserData) RP =2
userA atxt(12&Z)Z2IHES DHOFK|

gtofl Enterg 28 =7t

T1_NPS_STC_003_000 (AdminData) Admin A4 100 (CI =0) 120t Remain Paper 104 &
7t

T1_NPS_STC 003 001 (AdminData) Admin A4 100 1280FC} Remain Paper 108 &
7t

T1_NPS_STC 003_002 (AdminData) Admin A4 80 1R0tCH Remain Paper 10% &
7t

T1_NPS_STC_003_003 (AdminData) Admin A4 150 Screenl|= OFR Y= LO{LIX]|
OJ—%

T1_NPS_STC_003_004 (AdminData) Admin A4 200 Screen0l= OFR Y= LO{LIX]|
OJ[-%

T1_NPS_STC_003_005 (AdminData) Admin A4 -10 Screenfl= OFR Y= LO{LIX]|
oro

(k=]

T1_NPS_STC_003_006

(AdminData) Admin Ink 3000

1Z=0tCt Remain Ink 1004 =7t

T1_NPS_STC_003_007

(AdminData) Admin Ink 1000

1Z0FC} Remain Ink 100% =7t

STP

T1_NPS_STC_003_008 (AdminData) Admin Ink 5000 ScreenOf= OtR Y=  LO{LIX]
OJ[—%

T1_NPS_STC_003_009 (AdminData) Admin Ink 6000 ScreenOfl£ OfR Y= YUOILIX|
ore

T1_NPS_STC_003_010 (AdminData) Admin Ink -1000 ScreenOf = OFR U= LO{LIX|
ore

T1_NPS_STC_003_011 (UserData) userA abc.txt Status =>"printing”
Printing = “userA ®xj Z=A#ZQI
| O| X| /& H| O] X|"

T1_NPS_STC 003 012 (UserData) userA a.txt Status =>"printing”
Printing = “userA ®xj Z=A#ZQI
| O| X| /& H| O| X"

T1_NPS_STC_003_013 (UserData) Status =>"printing”
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userA abc.txt Printing = “userA X &39I
userB a.txt | 0| X|/& 1| 0| X|"
Wait Queue = "userB b.txtHH| 0| X|
A
T1_NPS_STC_003_014 (UserData) Status =>"printing”
userA abc.txt Printing = "userA X} E2HZ0l
userB a.txt | 0| X|/Z& 1| 0| X|"
aaaa a.txt Wait Queue = "userB b.txtmH O| X|
2= aaaa a.txtl| O] K| ="
T1_NPS_STC_003_015 (UserData) Status =>"printing”
userA abc.txt Printing = "userA ®Xj E2HZ0l
userB b.txt | 0| X| /&= 1| O| X|"
userA a.txt Wait Queue = "userB b.txtHH| 0| X|
aaaa a.txt =
userA a.txtm| O] X| 4=
aaaa a.txtm| O| X| ="
T1_NPS_STC_003_016 (UserData) Status =>"printing”
userA abc.txt Printing = "userA X =39l
userB b.txt | 0| X| /&= | 0| X|"
userA a.txt Wait Queue = "userB b.txtHH| 0| X|
aaaa a.txt =
userA b.txt userA a.txtm| O] X| %=
aaaa a.txt| O| X| %=
userA b.txtm| 0| X| ="

8.3 Input specifications

<Table 3 System Test Design Identification> %=

84  Output specifications

<Table 3 System Test Design Identification> %=

Testing tasks

STP

Task Predecessor tasks Special skills Effort | Finish Date
(L)STP Z=tMd Team1NPSSRA 2
Team1NPSSDS
(2)Test case NPSO| CHTH K| A 2
specification %}
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B)STE #
o

(4)STE 2

(5)ST

N (Ul U1 | U

(6)ST report 2t

10 Environmental needs
NPSQ| unit testE |3t 24X Q@ A2 Ch21p ZC
1) Hardware & Platform : Cygwin

11 System test deliverables

12 Schedules

9. Testing Tasks &=
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